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Simplified reading and comprehension Unit 2

Answer key

Comprehension 2

1

0 N o u A W N

9

(i) Fourteen/14
(i) Copenhagen
(iii) Denmark

(iv) by bike/cycling

7.50 a.m.
B

C

chill out

the big cushions

native language

because it opens up more opportunities for him and helps him make friends (any

reasonable answer)

A

10 There aren’t any classrooms./There are ‘chill out zones’. (any reasonable answer)

11

12

(i) cycling
(ii) Danish
(iii) the cube

(iv) classrooms
(v) tablets

i)  spacious

ii) emphasized
iii) lecture

iv) suits
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